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I BEDOH
1. REEE
HEeES 5,516, 898 4,107, 207 1,409, 691
KINE 41,828 0 41,828
RBEESS 5, 558, 726 4,107,207 1,451,519
2. BIEEE
(1) EARBAE
EHTEE (H) 60, 500, 000 60, 500, 000 0
HARBESE 60, 500, 000 60, 500, 000 0
Q4 EEE
BEEESE 0 0 0
Q) ZDHEEE E
HEERE 1 1 0
HEitE 8,220 8,220 0
AT 1 24,223 A 24,222
ZDEEEEASET 8,222 32, 444 A 24,222
BEE&EEST 60, 508, 222 60, 532, 444 A 24,222
BEA 66, 066, 948 64, 639, 651 1,427,297
I BEOH
1. RBaE
Kb 5, 389, 071 3,944, 602 1,444, 469
HY£ 169, 655 162, 605 7,050
RBBESE 5, 558, 726 4,107,207 1,451,519
2. BEIEGE
BEEBEES 0 0 0
BiEEE 5,558, 726 4,107, 207 1,451,519
I IERKREFEDER
1. ¥5EIERRBLE
Hh5 7S A B & 0 0 0
AN HEAKEES 20, 000, 000 20, 000, 000 0
REIHALES 10, 000, 000 10, 000, 000 0
FHE (5 E LR EAEME L) 30, 500, 000 30, 500, 000 0
(IB&ZZLF) (20,000, 000) [ (20, 000, 000) |  ( 0)
(REBFEZGREHES) | (10,000,000) | (10,000, 000) | ( 0)
(GZLEBEIR) ( 500,000)| ( 500,000 ( 0)
B IEKRMESE 60, 500, 000 60, 500, 000 0
(O LERBE~DFTLE) (60, 500, 000) [ (60, 500, 000) |  ( 0)
(O BEEME~DT H%8) ( 0] ( 0] ( 0)
2. —ARIELKRELE 8,222 32, 444 A 24,222
(S BEKRBFE~DT H%8) ( 0] ( 0] ( 0)
OB EME~DFTLE) ( 0] ( 0] ( 0)
IERBAESE 60, 508, 222 60, 532, 444 A 24,222
BERUVEKREMESE 66, 066, 948 64, 639, 651 1,427,297




